OLI: To be able to divide using a written method.

Answer these questions in your maths books. Use the short bus-

How many times
does 3 go into 5?

It goes into 5 once
and has a

remainder of 2.

stop method.

b7 +3=19

1

How many times
does 3 go into 27?

It goes into 27

X times and has
5 27% ho remainder.

Challenging More challenging Srgz:;i‘rjr
36 +3-= 188 + 4 = 1872 - 12 =
88 +4-= 198 + 3 = 3236 -4 =
64 = 2 = 200+ 5 = 2880 + 6 =
69 + 3 = 108 + 6 = 3024 +7 =
93 + 3= 210+ 6 = 2912 = 8 =
100 + 5 = 147 + 7 = 6867 + 9 =




